
F314 Linear Algebra: Quiz 8 March 28, 2025

Name:
1. The matrix

A =
1p
5

"
1 �4
2 7

#

admits the QR factorization A = QR with

Q =
1p
5

"
1 �2
2 1

#
, R =

"
1 2
0 3

#

You don’t need to show this. Instead, use the QR factorization to solve Ax = b with

b =
p

5
"
1
3

#
.

w =a
+ b = Es[i](3]5
= []

Rx = [i] = [10][] = []
3xz = 1 =7 xz = 43

X + 2xz= 7

=7 x, = 7
-z =1

x= [i]
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2. Find two di↵erent left inverses for the matrix

A =

2
666666664

1
2
3

3
777777775 .

2

Want : XA = 1

X= (100]

X = [0E 0]

also : X= [005]

X= [201]

and many more
!


